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Exercise 15A

Question 1:

Area of given triangle =% x Base xHeight

= [éx}ix 1«:1.5}:m2 = 174cm?

Question 2:

If the cost of sowing the field is Rs. 58, then area = 10000 m?
If the cost of sowing is Re. 1, area = 1000058 m?

If the cost of sowing is Rs. 783, area = (1000058x783) m?
Area of the field = 135000 m?

Let the attitude of the field be x meters
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Area of the field =

z

3
—— =135000

2

i 135000:=2 _ 50000

= ¥=490000=300m

2
1 3% ; i
T Tw e w mE _ mE Altitude =300 m
= = - base=3=300=900 m

Hence, the altitude = 300m and the base = 900 m
Question 3:

Leta=42cm,b=34cmandc=20cm

Then, s=_;[42+ 34+ 20)cm = 48 cm
[s—a)=6cm, [s-b)=14cm and[s-c)=28cm

(i) Area of triangle =

JE{s-a){s-b)(s-¢) - TExEx1dx28 cm? = 336 cm?

(i) Let base = 42 cm and corresponding height = h cm

Then area of triangle =

1
[Exéﬁxh]cmz = {21hyem® 21h=336:>h=%= 16 cm

Hence, the height corresponding to the longest side = 16 cm

Question 4:
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Leta=18cm,b=24cm,c=30cm
Then, 2s = (18 + 24 + 30) cm =72 cm
s=36cm
(s—a)=18cm,(s—b)=12cmand (s—-c)=6cm

(i) Area of triangle =

JE{s-a){s-b)(s-c) - FEx1Bx12%6 cm? = 216 cm?

(ii) Let base = 18 cm and altitude = x cm

Then, area of triangle =

[%KIBM} 9 e 9><=216:~><=%= 24
Hence, altitude corresponding to the smallest side = 24 cm
Question 5:

On dividing 150 m in the ratio 5: 12 : 13, we get

Length of one side = (150%x530)m=25m

Length of the second side = (150x1230)m=60m

Length of third side = (150%1330)m=65m

Leta=25m,b=60m,c=65m

Then, s- %{25+ 60+ 65)rm = 75m
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(s—a)=50cm, (s—b)=15cm,and (s—c)=10cm

Area of the triangle = ,Js{s— a)(s-bjl(s-c)

= J75%50%15=10 m=

= 750 m<

Hence, area of the triangle = 750 m?
Question 6:

On dividing 540 m in ratio 25 : 17 : 12, we get
Length of one side = (540%2554)m=250m
Length of second side = (540x1754)m=170m
Length of third side = (540x1254)m=120m

Leta=250m,b=170mandc=120m

Then, s = %{25& 170+ 120} m= 270m

Then, (s—a)=29m, (s—b)=100m, and (s — c) = 150m

Area of the triangle = Js{s— ajs-bj(s-c)
= 270% 20=100 150 m=
= 9000 m*

The cost of ploughing 100 area is = Rs. 18. 80
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The cost of ploughing 9000 area = Rs. (18.80100x9000)
= Rs. 1692

Hence, cost of ploughing = Rs 1692.
https://www.youtube.com/embed/AAY 1bsazcgM?start=282&feature=oembed

Question 7:

Let the length of one side be x cm

Then the length of other side = {40 x (17 + x)} cm = (23 — x) cm
Hypotenuse = 17 cm

Applying Pythagoras theorem, we get

Then, %2 +(23- xJ = 17° =& - 23x + 120-0
=[x~ 15){x-8) =0
= xw=wlh or x=8

Base =15 cm,
height = 40- (17 + 15)=40-32=8

frea of tnangle = éw Base x Height

- [%x 15x8]cm2 - 60 cm

Hence, area of the triangle = 60 cm?
Question 8:

Let the sides containing the right angle be x cm and (x x 7) cm
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Then, its area=[%xxx{x—?]}cm2
But area= 60 cm®
%x{x—?]=6@

=% - T7x-120=0

= %% - 15x+ 8x - 120=0

= x[x - 15)+ 8[x-15]= 0
=[x-15)[x+8)=0

= x = 15[Neglecting x = -8]

One side = 15 cm and other = (15 x 7) cm = 8 cm

Hypotenuse = J[lS]E + {8]2 cm = 225 + 64 cm

=289 cm= 17 cm

perimeter of triangle (15 + 8 + 17) cm =40 cm
Question 9:

Let the sides containing the right angle be x and (x x 2) cm
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Then, its area= [% x X% (x - 2]] cm?

But area= 24 cm<

: %x{x—2]=24
=%x2-2%x=-48=0
= xF -S4 Ex-48=10
= x(x-8)+6(x-8)=0
=[x-8)[x+6)=0
®=8 [N&glecting ¥ o= —6]

One side = 8 cm, and other (8 x 2) cm =6 cm

=10 cm

Hypotenuse = J[B]E + {6]2 CIT = 64 + 36 Cm
= 100 cm

Therefore, perimeter of the triangle =8 + 6 + 10 = 24 cm
Question 10:
(i) Herea=8cm

Area of the triangle = (3V4xa2) Sq.unit

- [§x8x8J - {1643 ) e

- (16x1.732) cm? = 27.7 1cm®
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(i) Height of the triangle= (3V4xa) Sq.unit

- [gxg]cm=(4xu'§)cm

= [{4x 1.732)cm = 6,93 cm

Hence, area = 27.71 cm2 and height = 6.93 cm
Question 11:

Let each side of the equilateral triangle be a cm

Then, its height = [g X a] Il

B i8 3
o Exa=9:>a=[ﬁxﬁj=6u§

- Each side = a cm = 643 cm

- Area of friangle = [§ x Gaf3 % 61@] cme = (E?ﬁ)cmz

- (27x1.732) = 46.76 cm®

Question 12:

Let each side of the equilateral triangle be a cm

Perimeter of equilateral triangle = 3a = (3 x 12) cm = 36 cm
Question 13:

Let each side of the equilateral triangle be a cm
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area of equilateral triangle = 3+4a2

NE] 813 x4
?az -8l f3 =4 [TJ - 324

= a=-324cm=18cm

Height of equilateral triangle

2

=[E J=[§x18]cm=9u'§ I

Question 14:
Base of right angled triangle = 48 cm

Height of the right angled triangle =

height = ”'[50]2 - {4—8]2 crm
= of2500 - 2304 cm
=+19% cm=14cm

Area of triangle = [% xBasex I-|eight}:m2

1 2 5
hypotenuse 2 _fbasel =|Zx48x14|cm® = 336 cm
=2

Question 15:
Let the hypotenuse of right angle triangle = 6.5 m

Base =6 cm
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Perpendicular = \,/[Hypotenuse]z - {basef

- 5.5]2 - [5)2 cm
- J4225-36 cm=6.25 cm

=25cm

Area of tnangle = [% xbase x heught]

- [éxﬁxE.S}:mz =7.5cm?

Hence, perpendicular = 2.5 cm and area of the triangle =7.5 cm?

Question 16:

The circumcentre of a right triangle is the midpoint of the hypotenuse

Hypotenuse = 2 x(radius of circumcircle)
=(2x8)cm=16cm
Base = 16 cm, height =6 cm

Area of right angled triangle
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1 .
= {5 xbase xhaght]

=(éx16x6}cm=48-:m2

Hence, area of the triangle= 48 cm?
Question 17:

Let each side a = 13 cm and the base b = 20 cm

~ Area of riangle = [thb 4 - l::ug}:m2

_ [%xzoxﬂxieg—zoxm}cmz

- [Sx16.61)cm? = 83. 1cm?

Hence, area of the triangle = 83.1 cm?.
Question 18:
Let each equal side be a cm in length.

Then,

Hence, hypotenuse = 28.28 cm and perimeter = 68.28 cm
Question 19:

Let each equal side be a cm and base = 80 cm
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Area = %-bx‘u'ﬁ]-az—bg S Units
=}lxauxJ4a?—64@o crm?
= 20x 45 — 6400 cm?

But area= 360cme
- 2004ef - 6400 = 360
= 20 % 2vfaF - 1600 = 360

= +Ja” - 1600 = 9
=g - 1600 = 81

= a2 = 1681
=a=<41cm

perimeter of triangle = (2a + b) cm

= (2 x41 +80)cm

= (82 +80)cm =162 cm

Hence, perimeter of the triangle = 162 cm
Question 20:

Perimeter of an isosceles triangle = 42 cm
(i) Let each side be a cm, then base = 32a

perimeter = (2a + b) cm

Hence each side = 12 cm and Base = 3212 = 18cm

(i) Area of triangle =
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x 18y4x 122 - 182 cm?
x 18x [576 - 324 cmP
x 18 x -u'i Cm

I
I:ul'—“ bl hlb—“

%I:w'f—’lag ~b2 =q unit Areas %x 18x15.87 cm® = 71.42 cm?

(iii) Height of the triangle =

| (Jax12x12-18x 131
5 oam

V448 umts “-'5?5 ks __1528? 7.94 cm

Question 21:

Let the height be h cm, then a= (h + 2) cmand b =12 cm

1x12xh= Zx12x J4fh+ 2 - 144
2 4

& = Eyh+ 2 - 36
h-fh+2f -36

Squaring both sides,

—fh+2f -36

h? =h° + 44+ dh - 36
-4h=-32=h=58cm

r-and -areas- of- lane-figures/
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Therefore,a=h+2=(8 +2)cm=10cm

b Jam o2

3

%x 12x j4x (10)° - (12)°

Area of isosceles triangle =

=3.J400-144 = 3x.256
=3x%16 = 48 an®

Hence, area of the triangle = 48 cm?.

Question 22:

Perimeter of triangle = 324 cm

(i) Length of third side = (324 — 85 —-154) m =85 m

Leta=85m,b=154m,c=85m

Then s - a+b+c_ [85+ 154+ 85

2 2
2 [s-a)=77 (s-b)=8and [s-c]=77
Area= Js(z-a){s-b){s - c]
= JIE2x77x8x77 =36x77 =2772m°

Jm: 162 m

(i) The base = 154 cm and let the perpendicular = h cm

Area of triangle = e X 154xh} = 2772 e
2i72
h="———=36
7Y
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Hence, required length of the perpendicular of the triangle is 36 m.

Question 23:

B 10 cm C

Area of shaded region = Area of AABC — Area of ADBC

First we find area of AABC

o Area = gag = [? x10% itil}:m2

= 43.30 cm?®

Second we find area of ADBC which is right angled
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- Area of ADBC= %xBasaxHeight

Height = {BC® - DB? = J10° - 82
=m=-\fﬁ:m= 6 am

1 f1 N
.'.NEE=EXDBXDC=|EXSKE|EH'I

=24 an®

Area of shaded region = Area of AABC — Area of ADBC
=(43.30-24)=19.30

Area of shaded region = 19.3

Question 24:

Let AABC is a isosceles triangle. Let AC, BC be the equal sides

Then AC = BC = 10cm. Let AB be the base of AABC right angle at C.

Area of right isosceles triangle ABC

x 10 % 10 cm? = 50 cm?

P =

Hence, area = 50 cm? and perimeter = 34.14 cm

Exercise 15B
Question 1:
Let the length of plot be x meters

Its perimeter = 2 [length + breadth]
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=2(x + 16) = (2x + 32) meters

- [2x+32) = 75=2x = 75-32
43

= 2 = 43:>><=E= 21.5

Length of the rectangle is 21. 5 meter

Area of the rectangular plot = length x breadth = (16 x 21.5 ) m? = 344 m?
The length = 21.5 m and the area = 344 m?

Question 2:

Let the breadth of a rectangular park be x meter

Then, its length = 2x meter

.. perimeter = 2(length + breadth)

=2(2x + x) = 6x meters

S.6x=840m [ "." 1 km = 1000 m]

= x=140m

Then, breadth = 140 m and length = 280 m

Area of rectangular park = (length x breadth) = ( 140 x 280 ) m? = 39200 m?
Hence, area of the park = 39200 m?

Question 3:

Let ABCD be the rectangle in which AB =12 cm and AC =37 m
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D C

37 cm

A 12 cm B

By Pythagoras theorem, we have

BC = YAC® - AB? units
_JEE - (1R e
- (37 + 12)(37 - 12} em

= )49 = 25 cm

= J1225 cm=35cm

Thus, length = 35 cm and breadth = 12 cm

Area of rectangle = (12 x 35) cm? = 420 cm?

Hence, the other side = 35 cm and the area = 420 cm?
Question 4:

Let the breadth of the plot be x meter

Area = Length x Breadth = (28 x x) meter

= 28x m?

28:><=462:>><=%=16.5m

e*ll IV\adl ©CI
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Breadth of plotis = 16. 5 m

Perimeter of the plot is = 2(length + breadth)
=2((28+165)m=2(445)m=89m
Question 5:

Let the breadth of rectangular hall be x m

Then, Length = (x + 5) m

. Area =lengthxbreadth = [x x [ +5]:|r'r|2
= [xE + 5>c;)rn?'

(%24 5><] - 750

x2 4+ 30x - 25x - 750 = 0
x[x+30)-25(x+30)=0
(x+30)(x-25)=0
¥ = 25[Neg|ecting ¥ = —3]]

Breadth = 25 m and length = (25 + 5) m =30 m

Perimeter of rectangular hall = 2(length + breadth)
=2(30+25mM=(2x55)m=110m

Question 6:

Let the length of lawn be 5x m and breadth of the lawn be 3x m
Area of rectangular lawn = (5x x 3x) m? = (15x?) m?

Area of lawn = 3375 m?
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15x2 = 3375 = x2 = 5572 _ 205

15
W= 1.@25 =15m

Length=5x%x15=75

Breadth = (3 x 15 m =45m

Perimeter of lawn = 2(length + breadth)

=2 (75+45)m =240 m

Cost of fencing the lawn per meter = Rs. 8.50 per meter
Cost of fencing the lawn = Rs 8. 50 x 240 = Rs. 2040
Question 7:

Length of the floor = 16 m

Breadth of the floor = 13.5 m

Area of floor = (16 x 13.5) m?

Area of floor
width of the carpet

_ {16x13.5)
075

length of the carpet =

m= 222m

Cost of carpet = Rs. 15 per meter
Cost of 288 meters of carpet = Rs. (15 x 288) = Rs. 4320
Question 8:

Area of floor = Length x Breadth
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= (24 x 18) m?
Area of carpet = Length x Breadth
=(2.5x0.8) m?

Number of carpets =

Area of floor (24 x 18) m®
Area of carpet (2.5x o,g]mz

=216

Hence the number of carpet pieces required = 216
Question 9:

Area of verandah = (36 x 15) m? = 540 m?

Area of stone = (0.6 x 0.5) m? [10 dm =1 m]

Number of stones required =

Area of verandah _ 540 —1800

Area of stone | 0.3

Hence, 1800 stones are required to pave the verandah.
Question 10:

Perimeter of rectangle = 2(I + b)
2(1+b)=56=1+b=28cm

b=(28-1)cm
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Area of rectangle = 192 m?
I x (28 —1) =192

281 —1?2=192
[2-281+192=0
l2—161-121+192=0
I(1-16)—-12(1-16)=0
(1-16)(1-12)=0

=16 0orl=12

Therefore, length = 16 cm and breadth = 12 cm
Question 11:

Length of the park = 35 m

Breadth of the park =18 m

3t m

2.5m

2.5m
18 m

Area of the park = (35 x 18) m? = 630 m?

Length of the park with grass =(35—-5) =30 m
Breadth of the park with grass = (18-5)m =13 m
Area of park with grass = (30 x 13) m? = 390 m?

Area of path without grass = Area of the whole park — area of park with grass
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=630 — 390 = 240 m?
Hence, area of the park to be laid with grass = 240 m?
Question 12:
Length of the plot =125 m

Breadth of the plot = 78 m

P 3
125 m
A B
78 m 3m
D C
Im
5 R

Area of plot ABCD = (125 x 78) m? = 9750 m?

Length of the plot including the path = (125+3 +3)m=131m
Breadth of the plot including the path = (78 + 3+ 3) m =84 m
Area of plot PQRS including the path

= (131 x 84) m? = 11004 m?

Area of path = Area of plot PQRS — Area of plot ABCD

= (11004 — 9750) m?

= 1254 m?

Cost of gravelling = Rs 75 per m?

Cost of gravelling the whole path = Rs. (1254 x 75) = Rs. 94050
Hence, cost of gravelling the path = Rs 94050

Question 13:
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Area of rectangular field including the foot path = (54 x 35) m?
Let the width of the path be x m

Then, area of rectangle plot excluding the path = (54 x 2x) x (35 x 2x)
Area of path = (54 x 35) + (54 x 2x) (35 x 2x)

(54 x 35) + (54 x 2x) (35 x 2x) = 420

1890 — 1890 + 108x + 70x — 4x? = 420

178x — 4x% = 420

4x2 - 178x +420=0

2x2-89x +210=0

2x? - 84x -5x +210=0

2x(x —42)-5(x—-42)=0

(x—42)(2x-5)=0

Question 14:

Let the length and breadth of a rectangular garden be 9x and 5x.

tdm

45 om

Then, area of garden = (9x x 5x) m? = 45 x’m?

Length of park excluding the path = (9x = 7) m
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Breadth of the park excluding the path = (5x — 7) m
Area of the park excluding the path = (9x — 7)(5x — 7)

Area of the path =

= 45%% — 45%2 4 £3x% + 35x — 49
- 63x+ 35x - 49

45x% - (9% - 7){5x = 7) = [98x - 49)m*?

(98x — 49) = 1911

98x = 1911 + 49

::»98><=196D:>><=@=20 M

98
Length =9x =9 x 20 =180 m
Breadth =5x=5x20 =100 m
Hence, length = 180 m and breadth = 100 m
Question 15:
Area of carpet = (4.9 - 0.5) (3.5-0.5) m?
=44x3.0=13.2m?
Length of the carpet = (13.20.80)m = 16.5m
Cost of carpet = Rs. 40 per meter
Cost of 16.5 m carpet = Rs. (40 x 16.5) = Rs. 660
Question 16:

Let the width of the carpet = x meter
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xm

Area of floor ABCD = (8 x 5) m?

Area of floor PQRS without border

= (8 -2x)(5-2x)

=40 —16x — 10x + 4x?

=40 — 26x + 4x?

Area of border = Area of floor ABCD — Area of floor PQRS
=[40 — (40 — 26x + 4x?)] m?

=[40 — 40 + 26x — 4x*] m?

= (26x — 4x*) m?
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{26>< - 4><2) - 12

26x - dx° - 12-=10
—4x? 4 26x-12=10
2% - 13x+ 6 =0
%% —12x - x-6=0
2xfx-8B)-1[x-6)=
[2x-1){x-86)=0

b d U

1
- = -6
* EOFX

Wi dth = %m _0.5m [Neglect X = 6 because }

width is not more than breadth
wyidth = {0.5x 100) crn = 50 cm

Question 17:
Area of road ABCD
=(80x5)m?

=400 m?

Area of road EFGH

= (64 x5)m?

r-and -areas- of- lane-figures/
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=320 m?
Area of common road PQRS
=(5x5)m?
=25 m?
Area of the road to be gravelled
=(400 + 320 — 25) m? = 695 m?
Cost of gravelling the roads
=Rs. (695 x 24) m?= Rs. 16680
Question 18:
Area of four walls of room = 2(I + b) x h
=2(14+10)x6.5=2x%x24x6.5
=312 m?
Area of two doors =2 x (2.5 x 1.2) m? = 6 m?
Area of four windows =4 (1.5 x 1) m?= 6 m?
Area of four walls to be painted = [Area of 4 walls — Area of two doors — Area of two windows]
=[312 -6 — 6] m?= 300 m?
Cost of painting the walls = Rs 38 per m?
Cost of painting 300 m? of walls = Rs 38 x 300
= Rs. 11400
Question 19:

Cost of papering the wall at the cost of Rs. 30 m? per in Rs. 7560

o Area of 4 walls = %= 252 me
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Let h meter be the height and b m be the breadth of the room
Length of the room =12 m

Area of four walls =2 x(12 + b) x h

2(12 +b) x h =252

Or (12 +b) h =126 —(1)

The cost of covering the floor with mat at the cost of Rs. 15 per m? is Rs. 1620

S Aregof loor=12xb = @
1E5
102
12xb=108 . b=_""T=9
ar % e

Putting walue of b in{1)

(12+9)h =126 or h=%=6

Thus, height of room is & m

Question 20:

(i) Area of the square = 12(diagonal)2 Sq.unit

(ii) Side of the square = 288—-——Ym = 16.97 m
Perimeter of the square = (4 x side) units
= (4 x16.97)m

=67.88 m
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Question 21:
Area of the square = 12(diagonal)2 Sq.unit

Let diagonal of square be x

éx(x2)=128:>><2=256:>><= 16 crm

Length of diagonal = 16 m

Side of square = 128-—-—Vm =11.31m
Perimeter of square = [4 x side] sq. units
=[4 x 11.31] cm =45.24 cm

Question 22:

Let d meter be the length of diagonal

Area of square field = 12(diagonal)2 Sq.unit = 80000 m? (given)
%dz - 30000 or o = 160000

~d=400m

Time taken to cross the field along the diagonal

d 400

= = minute
speed 4000
&0
_20x60_ o inute
4000
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Hence, man will take 6 min to cross the field diagonally.
Question 23:

Rs. 180 is the cost of harvesting an area = 1 hectare = 10000 m?
Re 1 is the cost of harvesting an area = 10000180 m?

Rs. 1620 is the cost of harvesting an area = (10000180%1620) m?
Area = 90000 m?

Area of square = (side)? = 90000 m?

side = 90000----- Ym =300 m

Perimeter of square = 4 x side =4 x 300 = 1200 m

Cost of fencing = Rs 6.75 per meter.

Cost of fencing 1200 m long border = 1200 x Rs 6.75 = Rs. 8100
Question 24:

Rs. 14 is the cost of fencing a length = 1m

Rs. 28000 is the cost of fencing the length = 2800014 m = 2000 m
Perimeter = 4 x side = 2000

side =500 m

Area of a square = (side)? = (500)> m

= 250000 m?

Cost of mowing the lawn = Rs. (250000%54100) = Rs. 135000
Question 25:

Largest possible size of square tile = HCF of 525 cm and 378 cm
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Number of tiles = AreaofrectangleAreaofsquaretiles
= (525x378)(21x21) cm?

Number of tiles = 450

Question 26:

Area of quad. ABCD = Area of AABD + Area of ADBC
For area of AABD

Leta=42cm,b =34 cm, and c=20cm

D
..H’/ 5 H““g?:.c’rr
saem L T

e S, o

' 3 ',.—*""
-~ Y21 em
“ £

42 o

.- a+b+c= (42 + 34+20}cm=48

2 2
Then, {s-a)=6, (s-b) =14 and [s-c) =28

Area of AABC = \fsx (s-a){s-b){s- ¢
= J48x6x 14x 28 cm”®
= [6x7x8)em? = 336 cm?

For area of ADBC

a=29cm,b=21cm,c=20cm
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_a+heg _(29+21+20)
2 2
(s—aj=6am, {(s-b) =14cm and (s-c)=15cm

5 an = 33cm

Area of ADBC= ,Jrsx{s— 1= —bj{s - ci sg.units
=.35x6x14x15cm=
=(5x7x2x3)an® = 210 cm®

Area of quadAB(D = Area of AABC+ Area of ADBC

= (336 + 210) an” = 546 cm>

Question 27:

Area of quad. ABCD = Area of AABC + Area of AACD

BC = /179 - 159 cm = 4289- 225 = 64 cm

BC =2 om
Area of AABC = E x AC xBCJ cme

_ [%x 15x8]cm2 _ 60cm?

Now, we find area of a AACD
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a=15cm, b= 12cm and ¢ = Scm
a+b+c [15+12+9]
BT >

[s-a)=3cm, [s-b)=6cmand(s-c)=9 cm

5 = 18 cm

Area of ACD =,q|’3x (s-a){s-b)fs-c)
= J18%3x6x9 cm®
= [18x 3)em® = S4cm®

Area of quad. ABCD = Area of AABC + Area of AACD
= (60+54 ) cm? = 114 cm?

Perimeter of quad. ABCD =AB + BC + CD + AD
=(17+8+12+9)cm

=46 cm

Perimeter of quad. ABCD = 46 cm

Question 28:

ABCD be the given quadrilateral in which AD = 24 cm, BD = 26 cm, DC = 26 cm and BC = 26
cm

By Pythagoras theorem

AB = AfBD2 - AD2 — 262 - 242 cm
- JI00 crm = 10 cm

Area of AADE = e x AB x AD] - [éx 10 x 24]cm2

~ 120 cm@
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For area of equilateral ADBC, we have

a=26cm

Area of ADBC = [gaz}sq.units

- [g x 26 x Efijcmz - {1695} cr®

- (169 1.73)cm® = 292.73cm

Area of quad. ABCD = Area of AABD + Area of ADBC
= (120 + 292.37) cm? = 412.37 cm?

Perimeter ABCD =AD + AB + BC + CD
=24cm+10cm + 26 cm + 26 cm

=86 cm
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About RS Aggarwal Class 10 Book

Investing in an R.S. Aggarwal book will never be of waste since you
can use the book to prepare for various competitive exams as well. RS
Aggarwal is one of the most prominent books with an endless number
of problems. R.S. Aggarwal's book very neatly explains every
derivation, formula, and question in a very consolidated manner. It
has tonnes of examples, practice questions, and solutions even for the
NCERT questions.

He was born on January 2, 1946 in a village of Delhi. He graduated
from Kirori Mal College, University of Delhi. After completing his
M.Sc. in Mathematics in 1969, he joined N.A.S. College, Meerut, as a
lecturer. In 1976, he was awarded a fellowship for 3 years and joined
the University of Delhi for his Ph.D. Thereafter, he was promoted as a
reader in N.A.S. College, Meerut. In 1999, he joined M.M.H. College,
Ghaziabad, as a reader and took voluntary retirement in 2003. He has
authored more than 75 titles ranging from Nursery to M. Sc. He has
also written books for competitive examinations right from the clerical
grade to the I.A.S. level.
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Frequently Asked Questions (FAQSs)

Why must I refer to the RS Aggarwal textbook?

RS Aggarwal is one of the most important reference books for high school grades
and is recommended to every high school student. The book covers every single
topic in detail. It goes in-depth and covers every single aspect of all the
mathematics topics and covers both theory and problem-solving. The book is true
of great help for every high school student. Solving a majority of the questions
from the book can help a lot in understanding topics in detail and in a manner
that is very simple to understand. Hence, as a high school student, you must
definitely dwell your hands on RS Aggarwal!

Why should you refer to RS Aggarwal textbook solutions on
Indcareer?

RS Aggarwal is a book that contains a few of the hardest questions of high school
mathematics. Solving them and teaching students how to solve questions of such
high difficulty is not the job of any neophyte. For solving such difficult questions
and more importantly, teaching the problem-solving methodology to students, an
expert teacher is mandatory!

Does IndCareer cover RS Aggarwal Textbook solutions for Class 6-12?

RS Aggarwal is available for grades 6 to 12 and hence our expert teachers have
formulated detailed solutions for all the questions of each edition of the textbook.
On our website, you'll be able to find solutions to the RS Aggarwal textbook right
from Class 6 to Class 12. You can head to the website and download these
solutions for free. All the solutions are available in PDF format and are free to
download!
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About IndCareer

IndCareer.com is a leading developer of online career guidance resources for the Indian
marketplace. Established in 2007, IndCareer.com is currently used by over thousands of
institutions across India, including schools, employment agencies, libraries, colleges
and universities.

IndCareer.com is designed to assist you in making the right career decision - a decision
that meets your unique interests and personality.

For any clarifications or questions you can write to info@indcareer.com
Postal Address

IndCareer.com
52, Shilpa Nagar,
Somalwada
Nagpur - 440015

Maharashtra, India

WhatsApp: +91 9561 204 888

Website: https://www.indcareer.com
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